S kOoW»S@ETOENICELREN,
(1) 6+(—3)X(—1) ZBHELEXW,

(2) (—8)*+4 ZHELREW,

3 9 .
3) _T+ Jo FHELAREIW,

(4) 3(x—2)—2(x—3) ZHELREW,

4 ROWHEHG)ETCOMNCELREN,
L, BXRBEESTREEETEL,

1 (3x—1)* ZREREALRZREW,

(2) FBR x*+x—-3=0 ZEEhEN,

H307s 48




B) yRxRREHALTWT, x=20L%, y=8Thd, x=4DLEZDy DEERDAEEN,

4 9IFKDILAXBHIEYDLRHB, TOKLELIFVK L E, TZhXHV THOIHRE
RHREIWV,

(5) BT, AABCIXZACB=90° DEA=AKTHS, % A
7, DIOABLENDAT, ZADC=90° Th3, D
AB=8cm, AC=4cn®D ¢ &, DCOE & iX{Tcmd, KR
BREV, ‘
B c
(6) BT, WAKABCDIXAD//BCO&EHT, AB=DC, A D

AD<BCTh5, V‘
ZBDC=176°, LDBC=33° Wwt%, ZABDOKZ

SHATES, RN,




1) 6+(—=3)xX(—1) EHHELREW,

(20 (—8)*+4 ®EHELAEIW, (2) (—8) ' ~+4
@) -2+ EHELREL, = (=8) () x4
= bt < = ]¢
4) 3(x—2)—2(x—3) ZHHELREW, {L
) 4 + (=30 x (=) (3>_i+i:_§+’_‘9
= b+ =2 = q 3
— - 55
——/a

(4) 3(x-2) —2(x—3)
= 2xA 4 3x(-2) —2x L =2%x(~3)

= 3 —6-2x~+6 = X ¢ Lo >

Ca—[;)lz 0\2"2451"{)2
4 ROWH»E(E)ETOMNCEL RS, OAaz e Z AT dg

EL, BE2REBEEZSTFEETLN, 2 2
(g;() —Ix(32)x ] + |

(1) (3x—1)* ZEBALREW, _ ﬁxl- 650 —+ |

C' R

(2) FBRX x*+x—3=0 HFEEArEW,

(0 [31—1)2= (2x—1)(32—1)
= 3AX3A + SAx(—1) — [x 3 —Ix(~1)

= 99X -3 —3A+| -~ PA=EA+]
WA

(2) T=L¢ |, -3 0 gﬁmﬁﬂ lgt@;é_(_fgumzu
BE o A+ Hlu3, 1% 1—2=0 (%
A=, b=1, C ==3 Ta

A+ bx+C =0 of514 >
_ )'iJ | =4 x Ix (=3 )

—Ei&{oﬁi"FﬂC =

2
% p#zs, | - 2B
Sy

= X




(B yRxRREFALTNT, x=20L%, y=8Thd, x=4DLEDyDEERDEE,
\Va2 Vavav e

[Dg[fg e &K <CTe %S, <l‘J XT3 3,

I

a _ e \
9: _2,— m‘%ﬂxz )\é = A g]L = _f t?"ﬂ/_)' Xf:_ 4_‘(:_/{(—)\3.39
6

11 5y

@) 9FKDIHLAEXRHEYDO ULBHB, ZOKLEIFVL EE, FRARDTYV THIBESRSE
K&,

s 2o $2_

T vz 1y
(6) BT, AABCIXZLACB=90" ODEHAB=AKTHS, ¥ OO A
2, DIBOABLEDAT, ZADC=90° Th3, D
AB=8cm, AC=4cnD & &, DCORZI{Memd, R X 4
HRREW,
B (o}
e AABC 2 AACD #Hol _pAC=2CAD (£B)

A3l e Lepy= +fFd, (LBcA:ACDAHD"))
AB < AC = CB :DC T\ 28808 senzndu
8§+ 4 = By, [ @ =FAEEE —

STV CBoFx 3, C (= A%
o AABCw HE=ETY b 1
b

E;SFjia ﬁZﬂﬁE ?,FH\LTi

§°= 4"+ cB”?  ® (CB=4& 2 (B9

{4 -1b = CB> Fere Fu3 R

48 = B (B=4]3 > TR e

o Fja 1= AN = FEEASG 0 HFR

2 2

§:4 - 43 - x 3%:2”’6
=1 I3 £ (B= 48 - [25233
L= 203 em T X2 =43

—F




(6) HT, WABABCDIZIAD//BCOE¥T, AB=DC, A D

AD<BCTH»5. V‘
ZBDC=176°, ZDBC=233 DL%, ZABDDKZX
SIXTED, RDR2EW,

PE <t
© Fﬁﬁ/ﬁﬂgz @’\}%—?}if: A D
= x=o, S
AD/BC — :
X33°
AB=DC — £ )i B C
’r@@zﬁ_%yﬁﬂ% > . _H__
A T #ET, /
preSFemE / 4 °
® D ey AB=®HTEIM /@389

LRR RETEE33,
[ ABDCot 1B »4ald

[(QDO +F o
[§°— (33°+7242) ="/ ©

E] APECIHE

PE-=pC o =HI=HF, L BDPE =~ BDC

tEon v 2o o Jaf I3 E Lus — _EDC
4DEC: 7° = ’769___3&207362_9
ADEC ﬂ]ﬁﬁmﬁg @ AB//DE m%ﬁ?/d

&(60° Fa T Zluat

P <MD =2 BDPE
|80 — (7+7) )= 3¢°
= 3@9

—



